I () P HEBET M1 01 9%F 1 27, 50011
-1 AO04%
626

I () BT RE2088%2 1 29, 4001
-2 A 0.3 %
298t

A EEH
P 1Ty
/\%gpﬂf___ﬁ
A
> EEH
M M 1. 9km
i () B BETIME 1 14 6% 1 1 27, 800H i () WEHmET 7 TH1 0% 7 42, 5004
-3 A 0.4 9% -4 (FEET7 —10— 7] A 0.7 %
229t 385m
FEAIREL @
HRHEAEEFR
HIFEETHS (/R ) ij;;}
H W AT E A
) RS
\g\&
A BgaRs
srsts yo
i ::::i\@ gél\%%
iR ErETiE
DL
M B 900m
I () WAL 3 1 8% 2 3 25, 500 B () WHTREFH1128%F 21, 200/
-5 A 0.4 % -6 A 0.5 %
1881 1931

F“v ?ij EhBIasE

=2
hi

HFE#E 900m

KE 1. 4km




iR

T e
7( =]

W
G

i () Wl 1 2 5 5% 1 18, 4001 i () @igw%3Ta4o5ﬁ5 40, 800
-7 5-1 -3 —8—15]

A 0.5 % IS A 0.5 %

218mi 267m

R LIEEE

HHST1k
AR

GBS 2. Tkm

WFEL  mmmmeises
= piy

1. 2km M 600m
M (1) W3 TH2%2 58, 0004 I () PR T E4 1 8 3% 1 4 28, 40014
5 - 2 [FEAT3 — 2 — 2] A 0.5 9% 5-3 A 0.4 9%
3@%0):é:fl : (') fﬁﬁﬁ?U ERVZ . (')
400nd 16511
/
T S
£
HieEe - £
50 £
5 E
5 [
s
1
& FEIRRIE
[ 1 [ 1 [ | A~ R2ER [ 1 [ 1
FhE EFEE
«— —»>
B 450m KEg He
B () WIrimg#e4 TH6 75%5 3 21, 7001
9 -1 P4 —a4—5; 0.0 %
e r P S AR T AN B 2T e
3,302nf
“ﬂr
WHERE
&
s WS
*o k=



